Precalcudus Ut 6 Homework—Using Fundamental Identities
Trig Identities Puzzle
Directions: Simplify each trig expression. Show all work.

Find your answer at the bottom of the page. Write the letter associated with your answer in the box
that contains the question number. You may use answers more than once.
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On October 4, 2006 Akira Haraguchi broke his own record by reciting the number pi to 100,000
decimal places. ’
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to complete the task.
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Simplifying Trigonometric Expressions

Simplify each of the following.

1.

11.

13.

15.

17.

19,

S€CXCOoSx == ‘

2 A
tan” x —sec’ x - \

cotxsinx = ¢ag X

sinxsecx = '\TU/\X

2
sec” x—1 Z
. =% X

sin® x
sec*x—tan*x = SPC?’X" “"aleX
tanfcscld = Sec &
cosftan f = Sin P

cot x - C"E)gxﬂ
csCXx

Seczx(l—sin2 x) = \

10.

12.

14.

16.

18.

20.

sin(-1) ~ — Janx
cos (~x)

1—cos” x

= Sinx

sinx

N

sin E—X

—=—< = cotX
T

cos| ——x
(2 j

cos? x(seczx—l) = S’inix

cotxsecx = CS>C X

P s
cos? (— =

2 ) = 8%#\{‘\’&4/@(

Cos X
2
sin@(cscf-sinf) = CoS &

sinad _ \
secor =
tan o

cscd - (’U* E)‘

secd

L = oppstx

tan? x +1

Simplifying Trigonometric Expressions

YR



21, ) = —danx 22, X - incx

cos x sec? x

23. cos[%—xjsecx = “\’w‘/\AC 24. cot[%——x}cosx = SYhX

2 . r " .

25, COS_ L = LFS'“’W 206. cost(l-l—tanzt) = Sé)Ct
I-siny

2 2 L oin2 . ¢ V) 2 2 —_ aq{

27. tan” x—tan” xsin"x = SiK X 28. sec’ xtan® x+sec’x = 6¢C
2 .1 2, - .
29.  sec’xsin’x-sin’x = "\'UU’I XSth x 30. seex-l o geox + ’
sec x -1

4 g 4 , . . %,

31. tan* x+2tan“x+1 = SeC X 32. 1-2cos’x+cos’x = Sin X

) 2
33.  sin*x-cos‘x = S‘mz-x-—-(bS X 34, csc’x-csc’ x—cscx+1 v
= C.c»{';zx(csc)(’ ')

Perform the indicated operation and simplify.
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